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1 i;;;fﬁ 5%1@t29y 2000 kg | 3370 ke 5990, 1880 2570
2 ﬁﬁfj %ﬁgm§£? 3650 kg | 4170 ke 5440 2210 2490
3 mé%?;ﬁ;%i'%ﬁy;ﬁw 3950 kg | 3930 ke 5780 2230 2420
4 H%%i%%ﬁgfs;é%i Eiﬁgg %ﬁ;g? 3900 kg | 3960 ke 5900 2190 2410
5 ﬂ%%i%%g;i\s;gﬁﬁi EiﬁéFgo @8)81 3900 kg | 3960 ke 5800 2210 2420
6 ﬂ%%;%z;fs;%ﬁi Egkgo @Sg)m 3600 kg | 4200 ke 5870 2230 2400
7 i;;;ii E?EP??TS 3000 kg | 4830 ke 8150 22400 3,020
8 i;;;iz '%igoag?s 2550 kg | 5310 ke g160| 2270 3,050
9 i;;;fi Eggﬁ%gﬁ3 2700 kg | 5160 kg 8170 2230 3,100
10 10?15;;:?_% Eiﬁ 100 E48)36 10,900 kg | 10,980 ke 1034 2490 3270
11 i;;;ii E%¥?3%g1 1900 kg | 5980 kg 818 224 306
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EXRERVNESEREORICHT 2EMBICAEDEIE A XBEOEANRR (HF15F 78 31 BIRE)

EWMEDOHEAR LN a% (ZL)

LREEK 11 (100.0%)
DFH 12 FRAEGHFHSTRE Bk 0 ( 00%)
QFR 12 FEREEPFHITRE BAK 0 ( 00%)
QF M 12 FHREEHFH A RE BAAK 0 ( 00%)
DF B 12 EHABEPMBEHT « —PLE Sk 0 ( 00%)
OFfL 12 FRABEPMBHT 4 —LLE AkAk 0 ( 00%)
®F R 16 EHEA 0 ( 00%)
DEM 17 ERAERHS R A500ERE  AAk 0 ( 00%)
@F L 17 EEAHHH R+ TENERE Ao sk 0 ( 00%)
@M 17 EHEPM+10%ERERE  * 0 ( 00%)
OFp 17 FHEENOX+H10%ZEREEE ¥ 0 ( 0.0%)

% O 17 FEENOX - PM+H10%ZREEE * 2 ( 20.0%)
2 | 0w 18 FRHEA 0 ( 00%)
% |O®m 19 FasES 0 ( 00%)
D (OT R 19 FREBIM S ZHE0RERE Ak 0 ( 00%)
N |BTR 9 FEA AR TSERE  AAAK 0 ( 00%)
4 (®Fs 20 EBIES 0 00%)
7 lowm 21 amalEe 0 ( 00%)
B \@m 21 2 NOx/PV+ 1 0% AL 0 ( 00%)
* O 21 FEAEZEE X +50%EME D QAR 0 C 0.0%)
QT 21 EHAH S A+ TEERE  AdrA 0 ( 00%)
DI 22 EIRFIES 2 ( 20.0%)
QYRR 22 FEF2E NOX - PM+10%E AL E 2 ( 20.0%)
DI 28 EIRFIES 1 10.0%)
DI 30 EHIES 0 ( 00%)
DI 30 FHEH A REAELO5UEAME  Akok 0 ( 00%)
20 A% 30 FHEH 7 R EEE+50%EME PAQAQAG 0 C 0.0%)
QDAL 30 FEHEH R EEE+T5%EME AR ARAGAGAS 0 ( 0.0%)

(R A REDEABRE]
A i)




2. EFBERVIEEMRRORICHT SEMREICHRSEMEEDOE AR (BH5F7AH 31 BERE)

EWEOBREBERL NI B (B4H)

LREBEH 11 (100.0%)
T 17 EERERAEFRE OEME 0 ( 0.0%)
Q@+10%EmM = 0 ( 0.0%)

Y22 FEREREEFRE QEME 0 ( 0.0%)
@+5%FEmM = 0 ( 0.0%)

®+10%FEM = 0 ( 0.0%)

®+15%FmM = 0 ( 0.0%)

@D+20%FEM = 0 ( 0.0%)

®+25%FE M &E 0 ( 0.0%)

(9+38%EmME 0 ( 0.0%)

(0+50%FE M E 0 ( 0.0%)

Eak 27 EEREREAEZFENE (DFEME 7 (63.6%)
Q+5%FE M= 1T (C 9.0%)

B+ 10%E M E 0 ( 0.0%)

D+ 15%F M E 0 ( 0.0%)

B+ 20%FE M E 0 ( 0.0%)

10+ 25%E M & 0 ( 0.0%)

)+ 35%FE M E 0 ( 0.0%)

D2 EEREEEZNE (B350 0 ( 0.0%)
19+ 20%E M & 0 ( 0.0%)

@+40%E M E 0 ( 0.0%)

@+50%FE L E 0 ( 0.0%)

@+ 90%FE L& 0 ( 0.0%)
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